~

= x—abs(x)
S=x x|

A%
Q

=pn— (%)-(z'nt(f(x)-cos(n-x),x=—Pi..Pi))

> b= n_>(%)-(mt(f(x)-sin(n-x),x=—Pi..Pi))

b =n—

a(0)

> 5= (x,m)—> —— +sum(a(n)-cos(n-x) +b(n)-sin(n-x),n=1.m)

2

m

s:= (x,m) — _a(20) +

n

(a(n) cos(nx) +b(n) sin(n
=1

x))

> s(x, 1)
T 4cos(x)
2 T
> s(x,5)
T 4cos(x)  4cos(3x)  4cos(5x)
2 T om 25w
_> s(x,9)
T 4cos(x) 4cos(3x) 4cos(Sx)  4cos(7x)  4cos(9x)
2 T on 25w 49 81w
> s(x, 13)
T 4cos(x) 4cos(3x)  4cos(5x)  4cos(7x)  4cos(9x)  4cos(1lx)
2 T 9m 25T 49 81w 121w
_ 4cos(13x)
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> plot({f(x),s(x, 1),s(x,5),5(x,9),s(x,13)}, x=-Pi..Pi)
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—fx) —s(x,1) —s(x,5)
— 8(x,9) — s(x,13)




